Heaven Hill 3-7HU

MD

1":100°
Company: Tug Hill Op
Well Name: Heaven Hill 3-7HU
API: 47-051-01968-00
County/Parish: Marshall Co.
State: West Virginia
Country: USA
Job number: THGO-18-1083A
Field: Utica
Rig Id: Nabors B28
Survey Company: NZone Guidance LLC

Log measurements: FT Dapth Date
Depth measured from: 10908 ft Start: 10908 ft 16/30/2018
Maximum temperature: 248 End: 22722 f# 11/12/2018

Casing Depth Size Mud Type: OBM Elevations

Surface: 13 3/8" Density: 13.35 KB: 1352

Intermediate: 10908 ft 9 5/8" Viscosity: 55 SEC/QT GL: 1326

Intermediate2: 22722 ft 475" Rm: Rmf: Rmg: DF: 1352

Offsets Depths Dates
Run | BitSize | Gamma Survey Start End Start End
8.50" 41.00 ft 52.00 ft 10908 ft 22722 1t 10/30/2018 11/12/2018
ft ft
ft ft

QIO ~N|dm|n| AN =

-

NZone Guidanece LLC uses its best efforts to provide its custamers with accurate information and interpretations in

conjunction with services performed but will not be held liable or responsible for the accuracy of such information or interpretation.
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